2&9 (1/25)
C)I @) )
5000 3000
SPC/77—-7411C SPC/7/7—=7411W SPC/77-7411PL
942 7x12.3 | | | |
o o 2 g ¢ B g B
' / ' . 7 7 7
N~
o~ | |
I I — Q) (@)
/ [ g 2 2 2
S . | ) o S| o 3|3 g|&
= o | T |wo I =
/ | N ! = |
) —t o - D
(@]
~
6L N o GL 6L 6L 93:
Sl o (ﬂ'
$76.3x13.2 2 A & 0150
~ (3mft 1 + M12x 30
@1y t7vn- M12
BAEEER (1/4) 0300 (Fy W Ee18%& 55mm)
2ER (1/15) OF & N-ATU - FEHBR (1/15)
Hfta oy b
M12x 30
Qre-Lrs7 oy o
e L o3 / Fy k7= W12
Q S @ - ¢ 110 ] 3 . @7\7')\/7 4—099 (FUNESIBEIDOMmM)
() o @D s1%v97 T =L,
N N Omtrez 04x16 =
@ g | T/ 3 950 16 T'e u: —
l N
I ) 25)[100]|25
S| \ 150
) g ('] 3 3
@ | N\CLiii=A 5% % % W& B @
S k> 98x1000 1 % B | STKA00 | Ban- = 1BEHAEE
o — 2 | e-Lns7 | STKA00 | @®Hwo & +HEEHEEE
A—- g 3 3 CES 7IA% AR
| =4 | 4 fMxvy T PC A H—Kx- bBifE (B
N \ I ) 5 | ATV M %vy T PC wUH-Kx— Ml (B
GL GL | [ 6 miCy SWRM BRBo
@ﬁﬁ 676.3xt3.2 7 ATYY Y ATV LA t=0.6
D maitx 8 Gt 7AC-X| ~-% BE-RGifk &
i 9 YRy b 703 03.2
B A7V 445y y T 10 miC A SUS 04x 16
11 2 GtH& HNIAC—X| R-A B.ReHk B-&
12 Ty b7VH - AR, & M12
13| BEftRw b 401BY | mRERD- % M12x30




@) 3

3000 3000

SPC78-7411C SPC78-7411W  SPC78-7411PL

942.7x12.3

1100

GL

‘270‘ 108

270

]

270 !270

GL

GL

270

—©

7N
Y/

270
1188

270

270

Qre-Lrs7

[Eﬂfﬁﬁfﬁ_

GL

N\

(D %t 876.3x13.2

976.5x13.2

88

88
88

S
A\

1100

1188
©
1100
1188
1388
1100
1188

1638

meteE (1/4)

@ s 1%xvy7

Quzn

e
-

D syeyiea

oL || _ 6L V‘@t

200

450

0150
(mft# 1+ M12x 30

Dy b7yH- M12

N

t

+

g:}mﬁﬁy

$8x 1000

O ATV 454y T

0300

(FULES18 R 55mm)
K-ATV - FEBR (1/15)

Eff & b
M12x 30

fy b7vh- M12
(FYLEGI8FEESSMmM)

FaeA
.

25%00
150

25(11001125
150

25

i g B

STK400 | ®@sas-> & HHENEER

E-Ln47 STK400 | ®id-o S +HENKRER

RE% PC R -Kx- el (B

A %yvy T PC ﬁUW—ﬁZ—¥m%(@ﬁ)

ATV A %y T PC R H-Rx— MBiE (B

By SWRM A

Sy €V IER

ATYURA

b AE M4

et R

HTAC- X

N-2 BORGHE &

YRy b

73

93.2

N _\%
O[O0 | O [~ [N NS B0

gt

HTAC -

R-2 2-R4iFB-#

—_
—_

Ty b7V -

ArRlEpH- & M12

No

AL b

4.6/8%

BRdmYo & M12X 30




